2011 Food Technology

Question 12

Which of the following determines company profitability?

A ¥ Market share

B X Legislative requirements

C X Consumer health concerns
D X Technological developments

HSC Statistics on this Question:
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 50% 67% 90% 95% 96%

B 6% 12% 2% 1% 2%
C 25% 7% 1% 1% 0%
D 19% 14% 6% 4% 1%
N 0% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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